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General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

(if) All questions are compulsory.

(iif)  There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

(iv)  All questions of Section-A and all questions of Section-B are to be attempted separately.

v) Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

(vi)  Question numbers 4 to 7 in Section-A are two marks questions. These are to be answered in
about 30 words each.

(vii)  Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

(viii) Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

(ix)  Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.
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SECTION A

Name the anion and cation which constitute the molecule of magnesium oxide

THRm 319] & Teesh HUMEA IR eFEA & 9 fafen |

Rewrite the scientific name correctly
(i) panthera tigris ---
(ii) periplaneta Americana

e fou Stk = O T ek fafan-

) U] 2R (panthera tigris)

(ii) U SHREM (periplaneta Americana)
State the role of the atmosphere in climate control?

STerar] a1 | agHved 1 1 dEH 87

State any two characteristics of mammalia. Name two egg laying mammals:

TITUTT b h1g o @&t Tl | 3ie oF aret | Tuaa] o M fafed |

What is an antibiotic? Give its one example

Tramiifes I | T 3aTee S|

A cube of side 5cm is immersed in water and then in saturated salt solution. In
which case will it experience a greater buoyant force. If each side of the cube is
reduced to 4cm and then immersed in water compare the force experienced by the
cube, as compared to the first case. Give reasons for each case.

5 cm YT &1 Tk o9 U1 H aleT Sl €, 3Hh U odv o §qu faead # | fRa
1T H T UH STHAEA I T ST BN | AR o4 i TAh S 4 cm F & St
T IR urt | ST ST § 1 5 R ST Y R 9Tt e i ot 9Uy STkt ¥ i |

ST STeEYTeAl o R faf@y |

The kinetic energy of an object of mass "m’ moving with a velocity of 5ms~ is 25].
Calculate its kinetic energy when its velocity is doubled.

m T HI &8 9% Sms! F I H A W @ 7, gt 1fas it 25] 71 9%g F1 A7
AT HA TR IHeh! TTST Fsll ht TOHT hITSTT |

The percentage of three elements calcium, carbon and oxygen in a sample of calcium
carbonate is given as :

Calcium =40% ; Carbon =12.0% ; Oxygen =48%

If the law of constant proportion is true, what weights of these elements will be
present in 1.5 g of another sample of calcium. Carbonate ?

(Atomic mass of Ca=40u, C=12u, O =16 u)

hiceEm HEE & Tk T H hicerm, He- qo1 SIS dwl i gfasradl = & T
e
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hieEd =40%

HTsiA =20%

HTRASH = 48%

e feer sTud o1 frm O ® 1 1.5g hfewem wreie & g T H Sufed qw @6
SN 1 B ?

(9 €A Ca=40u, C=12u, O =16 u)

The description of atomic particles of two elements X and Y is given below

X Y
Protons 8 8
neutrons 8 9
electrons 8 8

(i) What is the atomic number of Y?

(i) What is the mass number of X?

(iif) What is the relation between X and Y?

(iv) Which element/elements do they represent?
(v) Write the electronic configuration of X?

(vi) Write the cation/anion formed by the element

<1 el o THT0TSR hOT okt Toraor = feam e &

X Y
e 8
e 8
TR 8

(i) y T IR HEAT 1 © 2

(i) x T A G T 7?

(i) x q&my H 1 grsier 87

(iv) 3 forg ot / el 1 wefdid wea € 2

(v) x @1 geraee famme fafew

(vi) T G oA a1 RO q91 SR fatae |

Which of the following are isotopes and which are isobars?
Argon, Protium, Calcium, Deuterium. Explain why the isotopes have similar
chemical properties but they differ in physical properties?

frefafed § ®F @ greenfe € 3k ®F 9 gaafies ®
grrEenfeh! & TR o1 T St ifae 1o fue-fos 2 € 17 gmeEy |

Why do we keep both snake and turtle in the same class?

TH 17 T FF (<) H1 THE o7 | F W § 2
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Name the largest group of animals ? Write the salient features of this group. Give
two examples.

Siq SIA o T 912 9 &1 AW fafa | 39 99E % aav faftau | 51 3emir e |

(i) Which disease is more harmful : Acute or Chronic disease ? Why?
(i) Why are we advised to take bland and nourishing food when we are sick?

(i) <frar Tem <refeptferss A B hiF A1 I Ak BIRReE 82 Hi?
(if) SR B T e goeht aom drveh HIeiH <3 i Taig i < St 87

What do you mean by buoyancy? Why does an object float or sink when placed on
the surface of water?

ITTEhdl 9 1 ed B 7 U ot g W I 9% i gadl © SAYaT il 87

When is the work done by a force said to be negative? Give one situation in which
one of the forces acting on the object is doing positive work and the other is doing
negative work.

I g T T S el KU el ST 8?7 U wdt feafa Sifae el e )
el hiE SeT Giceh h1d oY T@l Bl q1 Tl RUMcHS i |

Define one Joule of work. Calculate the work done in lifting a box weighting 150 kg
through a vertical height of 7 meters (take g=10 ms™2)

T3 & Teh S[c hl IR =i |
150 kg oM & fohell ooRd &l 7 m SHEAleR HaiE as% SoM H fRd Y %/ & oM
Elﬂ'ﬁfl'Ql(g=1Oms‘2)

A construction worker’s helmet slips and falls when he is 78.4 m above the ground.
He hears the sound of the helmet hitting the ground 4.23 seconds after it slipped.
Find the speed of sound on air.

S @ 78.4m S R o freh wam fafifa wifte o1 ome fraaet = fir s g,
SCTHE % ST W ZHAH I edf 3T ThTe & 4.23 F IvEN GAE <l € 1 g § eafd
1 o 1A & RIS |

How following factors contribute in formation of soil ?

(a) wind (b) water (c) Sun
a1 & o1 § Frfefiad R frd TR Jemes © 2
arg (b) (¢

Acid rain and smog are said to be the consequences of air pollution. How are they
caused? What are the ill effects of breathing polluted air on human health?

3TATT o ST e[0T <l I FGHUT ShT TROMT el ST Tkl | Sk 9T hROT & ?
Tgid A o Yo fRal S R O O W R 1 FU-F9E TSl 87
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(i) Define mole
(i) How is it related to Avogadro constant, relative mass and molecular mass?
(iif) What is the number of molecules in 0.25 moles of oxygen ? Avogadro’s
no. =6—22x10%.
(i) ¥ IR« it
(i) et STErTEl feerien, SAMifasd GoamM SR eTvfas oMM ¥ HY grafd 87
(iii) 0.25 HreT TS | STuped b1 WA fohael @ 7 ST W& =6 — 22 X 102,
OR AT
(i) Define atomicity
(ii) Give an example each of a polyatomic element and a polyatomic ion.
(iify How many atoms are present in CaCl> molecule and soﬁ‘ ion?
(iv) Write down the formulae of
(a) sodium carbonate
(b) Ammonium chloride
(c) Zinc oxide
(d) Aluminium hydroxide
(i) LHTU[RAT <Rl GRHTYT HifSC |
(i) TEIHTE T TR TEURHTI[ A9 o Uedieh hl Teh-Teh ITEX0T LT |
(iii) CaCl, U] T SO2~ 3¥RA H T wRATY] Sufeerd € |
(iv) Fr=fafed & g fafaw
(a) Hifea™ HTeiie
(b) sFIfTaH FARES
(c) fsin eSS
(d) TafafTem TRl

Draw a flow chart to show different divisions of kingdom plantae and answer the

following -

(i) Which division has the simplest plants?

(if) To which division pinus and cycas belong ?

(iify What is the other name given to flowering plants ? Classify them on the basis
of number of cotyledons present in the seed.

Wi Sa o fafve fedftsml @1 sv@ Eifa oik T fod vt o s Sifse-
(i) Tcaq oS forg fefasm & siafa om &2
(i) GEFE IR U forg fefasm & i em &2
(iiii) gt Tl o1 fea T qHy AW e g2 WS H s S Iufkfd % STuR WS
aripa ifsTe?
OR/372raT
(i) What is the scientific name of human?
(if) To which class of vertebrates does it belong?

(iif) Write five characteristic features of this group. Also mention the exceptions
if any.
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(i)
(i)
(iii)

(ii)

(i)

(i)
(ii)

(ii)

AT 1 i AW fafag |
adierer & forg ot ® AT o1 €7
39 o & U o1 fafaw, afe g efuare ® d s ot fafam)

An object thrown at a certain angle to the ground moves in a curved path and
falls back to the ground. The initial and the final points of the path of the object
lie on the same horizontal line. What is the total workdone against the force of
gravity and by the force of gravity on the object ? Explain with proper
mathematical expressions.

Certain force acting on a 20kg mass changes its velocity from 5ms? to 2ms!
calculate the work done by the force.

TF fie # W ¥ R R W BRI R AT TH 9% 9 W el g SR
Ao el W A firar 21 fie & vy & yrfusw qun sifim foig w & dfaw W w
feoa B fife W o 90 & fowg 3R v =@ g0 3@ foham e fopam mam?
TfOTT SSTeh gRT HAHET |
20kg I T HET HIE o 3Tk o7 I 5ms T 2ms1 § qREfdd & 31 8, 5
ER1 T 7T &l 1 qReher it |

OR 3terar

Define kinetic energy. Derive an expression for the kinetic energy of an
object.

The power of a motor pump is SkW. How much water per minute the pump
can raise to height of 20m? Take g=10ms-2

TSt o1l ! ARG SIS | % i ST Sosll ok T7Q steh farfe |
Th A 9 i 36 5kW &, T8 T4 20m 1 9 d iq e ferdan 9t 31
Gohdl 872

Draw a well labelled diagram of human ear?
What makes the eardrum vibrate?

What is the audible range of average human ear ?
HIE T 1 THifrd fot Gifey |

U1 e R FhR S L 22

(iii) e M 1 oAl Y SHd GG Rt 22

()

(i)
(i)

OR/372raT
Why is the ceiling and wall behind the stage of good conference halls or
concert halls made curved?
Which property of sound leads to the formation of echoes? Briefly  explain?
What is reverberation ? What will happen if the reverberation time in a big

hall is too long? How can we reduce it?
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(i) ST TTA AT 3= THEH Hall Bl Hd o WS i AR IR Td IR F o418 STt
&2

(i) At 1 @1 I wfqeatt g & fore sTaves §7 St s wifeg |

(iii) STXoH @ 77 fonelt =€ B H Afe STII0M Il STcATfyeh &1 A o1 S?. §H 39 %A
HY A Gohdl 87

(i) How atmospheric inert nitrogen gas is converted into usable nitrogenous
form for the various life forms?
(if) Draw alabelled diagram to show nitrogen cycle in nature

(i) IgHeca sifha TReeH 19 Fufiysr & Sidl & fau Syt e s 8 &4
AT SR 87
(i) T ¥ RS- TUH o forg AHifRd S Eifa |

OR YAt

(i) What are the consequences of Global warming
(if) Draw alabeled diagram to show water cycle in nature
(iif) Why is water essential to life?

(i) Afvaes FeteRtor & afom fafaa |
(i) 9pfd | STela-<sk 3w < fore Amifra st Eifem)
(iii) ST & o siet =41 sTmavas 872

SECTION - B

In a reaction 5.3 g of sodium carbonate reacted with 6g of ethanoic acid. The
products were 2.2¢g of carbon dioxide, 0.9 g water and some sodium ethanoate. What
is the expected weight of sodium ethanoate?

(@) 2.8¢g (b) 82g (c) 28g (d) 0.82g

T TEEfte sfafwar § 5.3 g difedw wEie 6g T9HER ot O sfufsher ar ®)
2.2g FEASEAEES, .0.9 g 9d 3R F© Gifead TIHTE U F ®I H YW T T,
Hifea™ TeAITe &1 e S I 8

(@) 2.8g (b) 82g (c) 28g (d) 0.82g

Four students A,B,C and D verified the law of conservation of mass in the chemical
reaction of Barium Chloride and Sodium sulphate. All of them took 107.2 Barium
chloride solution and 116.1g of sodium sulphate solution and mixed them in a
beaker of mass 150g. They reported their results as follows :
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Student Colour of reaction Mass of reaction mixture in
mixture after mixing the beaker including mass of
beaker.
A White precipitate 383.3g
B Brown precipitate 393.3¢g
C White precipitate 373.3g
D Brown precipitate 363.3g

The correct observation is that of student
(@ A (b) B © C (d D

IR B A,B,C 91 D 7 T sfufchan H geamM W& < fEm %l g d w &
o IfTm-FaREe a wifead aethe foan ) a4t 3 107.2g Ifm-FaREe 3R 116.1 g
ifeas gethe 1 faerem @t 3% Tk 1509 Sa9M o sitent | Thfsa foram | e1a qftomei
%1 39 YR Ui foran :

B fafya 4 & 3Suua sifufshan | sy ®  sifufsrar fagor w1
frasgor =1 3 SH Sih o eadM Hfed
A The 3TaaT 383.3g
B 9 &Y 393.3g
C The 3TaaT 373.3g
D P CEL 363.3g
TET Y07 I el 9T ¢
@ A (b) B @© C d D

Wahida wants to observe a spiracle of a cockroach. She should observe the region on
its body shown by the label.




aifeet faeT=rg & Yo {9 1 YaT0 T =Rl © 39 foru 39 faeraer o IR i fRd
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28 After observing the permanent slide of spirogyra four students stretched and labeled

them as shown below

Cell wall
Vacule

Nucleus
Chloroplast

J' Cell wall —'
et Nucleus
‘/ g Vascule
Chloroplast

The correct labeled diagram is

@ A

(b) B

© C

} Ce]lwa]l_h j
i Chloroplast
Vascule

1& Nucleus

i Chloroplast

(c) C
TR BE A TEIET i TR TARS ol &I ohich o feu e qmifera fog @i -

d D

Cell wall —h I

Nucleus
Vascule 1&

ol

D

e

d D

Cell wall J Cell wall _'I | Cell wa]l_h I Cell wall —h j
Vacule _::_w Nucleus i Chloroplast i Chloroplast i
Nede E " £ Vascule Vascule Nucleus
ucleus "
M Chloroplast 1& IACEes ‘& Vascule 1&
Chloroplast P
= \ \ : |
] f : :-
L L I I
S5 [ U (N 6 N &5
A B C D
e Aifehd A ©
@@ A (b) B @© C d D



29 An unlabelled outline diagram of an earthworm was drawn by a student as shown
below. The important feature to be drawn and labelled for placing the earthworm in

its phylum is
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(@) clitellum (b) annular segments
(c) eye (d) anus
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30 Four students A, B, C and D observed permanent slide of fern and sketched its

31

diagram and labeled it as shown below.

Rachis

Leaflets Rachis

Leaflets

Stem

Stem
M Roots
Roots Roots i o°

A B C D

The correct labeled diagram is

(@ A (b) B © C (d D

IR B A,B,C T D 7 T i T RS k1 JaTr foran 3R i fou e fo wiw @R
AHifeRd Thu:

Rachis

Leaflets Rachis
Leaflets
Stem
W , Ty Roots W AR Roots
Roots
A B ¢ D
e THifeRa ot &
@ A (b) B © C d D
After observing two plants A and B Devid recorded his observation as given below.
Feature Plant A Plant B
Leaves Parallel Venation Reticulate venation
Seeds Single Cotyledon Two cotyledons
Petals Three Five

Choose the correct conclusion about the group of plants
(@) only A is a monocot plant

(b) only B is a monocot plant

(c) Both A and B are monocot plant

(d) Both A and B are dicot plants
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2 WY A TG B 1 90T KA & o€ Sfde 7 3797 Farur f1 yahR e fau:

SR e A Tiem B
il ot oy fa=ma Shiferet 3 fo=ma
EI! T o1l fgaitma o=t
vgfear = g

el < TE o foma § we freRd g

(a) HTA A ThaSToT Gem ¥
(b) ot B TehsSTosT diel ¥ |
(c) A T B Sl ThalSTol e |
(d) AT B ST fgaitsrast ore 21

Four students A,B, C and D observed permanent slides of different stages in the life
cycle of a mosquito. They arranged the different slides in the following order.

(A) Eggs —»Pupa—Larva—Adult

(B) Eggs— Larva — Pupa— Adult

(©) Larva —Eggs—Pupa—Adult

(D) Larva—Pupa—Eggs—Adult

Which student has arranged correctly the different stages in the life cycle of the
mosquito.

(@ A (b) B (c) C (d D

IR BT A,B,C T D 1 753X & S(ia =k hi [af4el SToRaieti i Tl TEel i J&Tor
foren 38R |t wEe fAfafad w0 § =afem #it

(B) 3 — oIl — FUI — FI&h

fora BT 7 T=3X & e 9k i fafier sreaxansti 1 ggt w0 o Haftyq fHan .




33 The water level in a measuring cylinders, before and after immersing solid in it, is
shown in the figure. The volume of the given solid in mL is
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34 The correct experimental set up for determining the mass of a solid in water is

35

shown in figure

e

(-

fordlt 39 o1 ST H gea| A9 & faT wel grEifies 82 31y gwiie aren faa

=Ny 4 F | 1R
_’ & ]‘—Q—" L LTU |

While establishing the relation between the loss in weight of a solid when fully
immersed in two liquids of different density, you are provided cubes of aluminium
and iron, each of side 4cm and two spring balances. Balance A has a range of

0 - 250g and a least count of 2.5g, while balance B has a range of 0-1000 g and a least
count of 10g. The preferred option for mass measurement would be to use balance :
(@) A for both the cubes

(b) B for both the cubes

(c) A for the aluminium cube and balance B for iron cube

(d) A for the iron cube and balance B for aluminium cube.



36

37

A -3 T & gl o foRel 31 &1 Puia: gEaM R 3H% 9R H oI wHt & gy &
YA T & AU STl 4cm ST a1t SAERA e Tfafem & <1 919 3R < HHHeR
qare 3 TR B 1 gE A XS 0-250 g 3R STewsRHie 2.5 g § S@f® g B &
0-1000 g 3R sTeushish 10g &1 EHM A o foTT YT o6t ST dTell Fel Jeriehl =5
B

(@) TFI A AT Al

(b) i = % T B

(c) UMM o o faw A q1 3R 51 o faw B |

(d) 3ERA =9 o fag A a1 UqfHfad =1 & fae B |

While establishing the relation between the loss in weight of a solid when immersed
in tap water and strongly salty water, an iron ball is hanged from the hook of a
spring balance. It is first kept in air, then fully immersed in tap water and then
immersed in salty water. The reading of the spring balance will be

(@) minimum in air

(b) minimum when immersed in tap water

(c) minimum when immersed in salty water

(d) equalin all the cases.

fordt 219 ST H T Yol Aauitd Sl H gAY 38k AR H hHl o gy Sl wfid
H % INH T AR did h! HAFGR ol & g T AHhE, T8l 36 ga1 # @, fiRe
T TE Y T & ST § A 3R 9% § d0ia Sl # | HAMGR ol | ISk Qi ¢

(@) @1 H A |

(b) & % ST H AN W A |
(c) <O STel Gl T =AdH |
(d) o+t fearfaii & Wk w9H |

To compare the pressure exerted by a solid iron cuboid while resting on its three
different faces, a student took an iron block of dimesions 15cm x 12cm x 8cm. He
successively places it on the loose sand filled in a tray such that its side of
dimensions,

(i) 12cmx8cm (if) 15cm x 8cm (iii) 15cm x 12cm

lie on the sand. On the basis of his observations he may conclude that the pressure
exerted by the iron cuboid is

(@) maximum when it lies on its side of dimensions 12cm x 8 cm

(b) maximum when it lies, on its side of dimensions 15cmx8cm

() maximum when it lies on its side of dimensions 15cm x 12 cm

(d) Same in all the three cases as the thrust is same.

319 TR % A R 3HH 3T~ I Aokl T TS I1e] T bl gl i o o Uk S
3 fondt 38 ©Ig % ek fSr@eR! fam 15cm x 12 cm x 8 cm & femn |
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3O 3 et 2 H W) g W0 W HES: TYSR W@ fF 3Tt faum (i) 12 cm x 8 cm
(ii) 15 cm x 8 cm (iii) 15 cm x 12 cm W B | Y& o STUR W 39 {hrer fF a8 &
T T IS I T S

(a) 3ifyeran W& =T i faAT 12 cm x 8 cm |

(b) efeRan W& =T i faAT 15 cm x 8 cm |

(c) fenan W& o7 i faAT 15 cm x 12 cm |

(d) i feafaat & gum S yoie um 2

To compare the pressure exerted by a cuboid, a student was given three cuboid
made of iron, aluminium and wood respectively. The dimensions of each cuboid is
20cm x 15cm x10cm. To perform the experiment effectively the student should
choose.

(@) aluminium cuboid (b) iron cuboid

() wooden cuboid (d) any of the three cuboid

fRdt ¥ g T Al S/ i ol o faU Tk S S diF o9 QU S G "SI ST,
THAMEE T TR kI A1 YAH A wt foEd 20 cm x 15 cm x 10 cm ¥
YHTERIEA @1 H YART A ok feT B 0l A1 =18

(a) TgfafTae == (b) IIE T (c)@dhet dw oA (d) T H | FE o

To verify the laws of reflection of sound, Anita sets up her apparatus as shown in the
diagram. Her experiment is more likely to get performed successfully if the
reflecting surface shown is a

Reflecting surface

= 5
Source of Detector
sound of sound

(@) cemented wall

(b) wooden board with many holes in it
(c) foam padded board

(

d) sheet of white cloth
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Reflecting surface
O

= 5
Source of Detector
sound of sound
(@) dHHvee faar|
(b) TNt foraad AHet AL |
(c) wETMEE!

(d) ¥%E FHUS I W

While performing experiment to verify laws of reflection of sound four students
Roohi, Salma, Zaheer and Amit measured the angles /i and Zr as shown in the
diagrams below.

AANAN

Roohi Salma Zaheer Amit

The correct measurement of the angle of incidence and angle of reflection, has been
done by the student.
(@) Roohi (b) Salma () Zaheer (d) Amit.

A & T & 799 1 FATIT FH & TAN & S IR SEI 6], T, SeR a9
3 = = fou T fost 6 S8R i d9 £ A

LTl ot SR Sfd
STFAH SHI0T T G I Skl Tl HII arell B &
(@) @& (b)  Hew € &R d) sfa
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Four students did the experiment on measuring the speed of a pulse propagated

through a stretched string as follows:

(1) Student A stretched his thick cotton string and gave it a strong transverse
horizontal jerk.

(2) Student B stretched a thin jute string taut and gave it a mild transverse
horizontal jerk

(38) Student C stretched his thick cotton string very taut and gave it a mild
transverse horizontal jerk.

(4) Student D stretched his thin jute string and gave it a strong horizontal jerk.
The best choice is of the student.

@ A (b) B © C d D

IR BEI A Tk TAN F fRdT o g8 S R 309 WA TUS o o1 I A, S foR g9

TR &

(@) B A N gE HiEl Yol SR 1 Afst sty fown § g fea

(b) B B gL UAA 2 i SR ot &t sTaweer foon # ot @ e fen

(c) ®BE C A T gE Rl gl )1 o &ifast 1wy faen § it § sfeen feam)

(d) B™ D ¥ T gL A S 1 SR 1 &fast s1gvey foen # oSt § srean fam)

T TS H A BH 7

@ A (b) B © C d D

While performing the experiment, for determining the velocity of a pulse through a
stretched string, a student had to choose between a

(i) thick silk string and a thick cotton string

(if) stop clock and a table clock.

The combination choice that he should prefer is

(@) silk string and the table clock.

(b) silk string and the stop clock.

(c) cotton string and the table clock

(d) cotton string and the stop clock

T g2 SR H TUS o AT ! A % o fop Ty § e o A gAE R

(i) | WH 1 SR 991 Tk 0 Yd S/ 6 o4

(ii) S =El o form WSt (R aE) W | 59 SIS 1 W g H S oAt
T TR T

(a) 9 H SR A 7S HE
(b) | I SR’} a1 foum =e
(© gt S qen 7w
(d) It SR qen for EE
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